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���� ��������� �� Ln ⊕ K̄n ��� ���� �� L̄n�
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�������� �� ����� �� � ���� ����� �������� �� ��� ������ (X,A,B)� ���� (B ⊆ A ⊆ X)�

· · · → Hn(A,B)
i−→ Hn(X,B)

jX−→ Hn(X,A)
D∗−→ Hn−1(A,B) → · · · ,

���� Hn(X,A)
∂∗−→ Hn−1(A)

jA−→ Hn−1(A,B)� �� ��� ���� �������� ���� � ������� �����
����� �������� �� ����� ���������� ���� ���� �� �� ����� ��� ���� ��� �������� ���������
���� �� D∗ = jA ◦ ∂∗�

�������� �� ����� �������� �������� �� ��� ������ (Dk, Sk−1, ∗)� ����� ∗ �� � ������
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�������� �� ���� ���� ��� ����� �� Ck(Δ
k, ∂Δk) ����� �� id : Δk → Δk �� ��� �����������

���� �� ��� ��������� ��
Hk(Δ

k, ∂Δk) ∼= Z.
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